Jogarithm. V., Vo-Daten Ur=(A - 550) / 50 Un=(A - 550) / 50

\ =(Vo+ Lo)/2 logVl., = —0,35[,—u =( +Lo)2 log =-035[-u ]
Vo=V +0,03 logL o= —0,35[i,~Us7(] +0,12 logL o= —0,35[iy~Us7q
flog [Vo,V , Vo, Lol Adaptation: A, =555 M, Lol Adaptation: A (=540
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logarithm. L , Lo-Daten uy=(\ - 550) / 50 uy=(\ — 550) / 502
L=(Vo+ )2 log,=-0,35L)\~u =(- + )2 log  =-0,35u)-u ]
Lo=L +0,12 log“ =-0,35U\-u ] + 0,89 log© =-0,35u\-u ]
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DoOo->YaYo BG790-3R BG790-4R

logarithm. -Daten uy=(A — 550) / 502 uy=(A — 550) / 502
=( +Lg)2 log: =-0,35L)\-u ]2 =( +Lg)2 log  =-0,35u)-u ]
= + 0,35 logLo= —0,35U)\~Us7d +0,59 logLo=—0,35u)\~Us7q
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u=(A = 550) / 50,

BG790-6R

U=(A — 550) / 50

log =-0,35u)-u ] ) log - =-0,35u)-u ];
= .+0,35 log ;= -0,35L)\~U:.] =G.+0,35 logL o= -0,35l)\~Us7q
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